Office/Section:		PR No.: 1021 - 10 - 100		Date:			
Curriculum and Instruction Division		2021-10-10-1		October	21,2021		
Stock /		Responsibility Center Code: 9 - 0 4 - 09 - 000	4-02				
Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost		
	unit	Adjustable Glass Drafting Table	30	14,500.00	435,000.00		
		- Sturdy 40"x 26" x30" (minimum size) adjustable drafting table Equipped with organizers on left and right side of the table for drawing tools such as technical pen, paint brush, and other drawing tools Allows the user to tilt easily up to 70 degrees. This shall have a carrying capacity of at least 20 kilograms and specifically designed for multitasking Has 2 easy slide out drawers for convenient storage; removable singleslot and multi-slot supply trays on each side Material: Heavy-duly silver steel frame, blue tempered safety glass work surface, and 4 casters for smooth rolling mobility Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.			2		
	unit	Drafting Stool with backrest	30	8,000.00	240,000.00		
		-Ergonomically design drafting stool with heavy duty metal base, and at least 10"x13" backrest. -Has a sturdy, durable, and heavy-duty base with SGS tested certified pneumatic gas lift. -Allows the user to adjust backrest and step on a foot ring. -Weight Capacity: at least 150 kilograms. -Carpet tile friendly characterized by having a durable swivel caster. -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer		. S.			
	unit	64 Drawer Plastic Parts Storage Cabinet	35	7,500.00	262,500.00		
		-Size Dimension of 20"x15.75" (minimum size) and has 64 drawers built with high impact polystyrene plastic frame for convenience in inventoryColor: black or blue -Easy to open cabinet that allows to store electronic components, office supplies, crafts, sewing supplies, and small hardware materialsStack or wall mount capable.		(4)			
	14			40,000,00	40,000,00		
	unit	Filing Cabinet (4 drawers with lock) -Has 4 versatile drawers for side to side filing of letter size and legal-size papers.	4	10,000.00	40,000.00		
		-Size dimensions: 54.75" x 21.12" x 44.5" -Material: Alloy steel -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.					
	unit	Shelf Unit Cabinet (White)	8	14,000.00	112,000.00		
		-This furniture can be used as a room divider. The furniture has 25 compartments for storage of boxes, documents, design artifacts, and display itemsSize dimensions: 71 5/8" x 71 5/8" minimum -Color: White -Particle board, fiberboard, printed and embossed acrylic paint, paper foil, plastic edgingThe furniture can with stand and support materials up to 45 kilogramsCan provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.					
,	unit	Shelf unit with 4 inserts (White) -This furniture can be used as a room divider. The furniture has 4 compartments for storage of boxes, documents, design artifacts, and display items. The bottom part shall include 4 inserts for material storageSize dimensions; 71 5/8" x 36" (minimum) -Color: White -Particle board, fiberboard, printed and embossed acrylic paint, paper foil, plastic edging -The furniture can with stand and support materials up to 45 kilograms.	9	13,000.00	117,000.00		
Purpose:	This is to provide essential furniture for storage, design, classroom instruction, and prototyping. This furniture will give life to the newly constructed Fabrication Laboratory with no furniture and equipment available.						
		00					
21	Reques	Requested by: App					
Signature : Printed Name	ERNIE/V. ROA SPECIAL SCIENCE TEACHER III			JOSE M. ANDAYA, D.T			

PHILIPPINE SCIENCE HIGH SCHOOL - CALABARZON REGION CAMPUS **Fund Cluster:** 1101101 **Entity Name:** Office/Section: PR No.: Date: 2021-10-109 October 21, 2021 Responsibility Center Code: 19-014-09-00014-02 **Curriculum and Instruction Division** Unit Cost **Total Cost** Quantity Unit Item Description Property No. 20,000.00 4 5,000.00 unit **Drawer Cart** -Five (5) drawer white cart with sliding drawers for easy storage. -Size dimensions: at least 19.3" x 16" x 26.3" Color: White Composite wood Feature: Cutout handles, Minimalist design, two locking wheels, and 2.2' clearance of casters between floor and bottom of cart. The furniture can with stand and support materials up to 45 kilograms. Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer. 12,000.00 12,000.00 1 **Utility Cabinet** unit The supplier shall be able to provide a utility cabinet with a heavy-duty Adjustable shelves that can accommodate cleaning materials and storage needs. -Fach shelf can carry at least 30kgs of item. The cabinet shall be durable and freestanding and mountable design. -Compact design that is suitable for use in space-challenged areas. -Size dimension: 36" x 18" x 41.6" (minimum dimension) -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer. 10 5.000.00 50.000.00 unit Bar Stool -The supplier shall provide a sturdy bar stool equipped with heavy-duty iron material that can withstand a maximum weight capacity of 80kgs. -Height adjustable that can accommodate sitters of different height and posture Painted surface shall be any of the material that ensures prolonged service time. -Feature: has anti-scratch rubber ring on the bottom enough to protect the carpet tile and slip resistant stool. Matte beige leather with strong metal black matte base and footrest. -Materials: Upholstered seat with premium sponge for comfortable setting. Unique outer leather shall be soft and crease resistant. A high backrest made up of Plywood curve stool that allows the person to reduce back fatigue. 4,500.00 135,000.00 unit **Conference Chair** 30 -The supplier shall provide an office chair that has high-density sponge cushion, and can provide good lumbar support to its user. Materials: Mesh Backrest and fabric seat rest. Sled type, Black chrome legs The conference chair shall have an armrest accord with human body engineering design. Carpet tile friendly characterized by having a durable swivel caster. Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer. 6,000.00 60,000.00 unit Swivel Chair 10 The supplier shall provide a modern profile desk chair that has pneumatic controls for raising and lowering seat. -Features: Tilt tension knob for adjusting chairs motion, upholstered in bonded faux leather (padded backrest and seat), and padded curved nylon armrest -The swivel chair shall be sturdy and made up of heavy-duty materials allow to carry at least 80 kilograms. -With 5-point base rolling caster wheels and built-in lumbar support. -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer. This is to provide essential furniture for storage, design, classroom instruction, and prototyping. This furniture will Purpose: give life to the newly constructed Fabrication Laboratory with no furniture and equipment available. Approved by: Requested by Signature: JOSE M. ANDAYA, D.T.
CAMPUS DIRECTOR ERNIE V. ROA Printed Name Designation: SPECIAL SCIENCE TEACHER III

Entity Name: <u>PHILIPPINE SCIE</u> Office/Section:		NCE HIGH SCHOOL - CALABARZON REGION CAMPUS		Date:	
Curriculum and Instruction Division		PR No.: 2 D21 - 10 - 109			21,2021
		Responsibility Center Code: 9 - 0 4 - 02			
Stock / Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost
	unit	Decorative Chair	5	10,000.00	50,000.00
		-The supplier shall provide a durable fabric seating surfaceIt should be cushioned seat and has a back chair for added comfortIt should be supported by steel legs for long lasting durability. The item shall able to withstand at least 90 kilograms of weightColor: Gray -Size dimension: 24.49" x 24.80" x 30.12" (minimum size) -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.			
	unit	Three (3) Seater L-Shaped Sofa	1	14,900.00	14,900.00
		-The supplier shall provide a snug fit three (3) seater sofa. It should be sturdy using hardwood frame materialFeatures: Modular sofa, each seat and ottoman can be used separately. You can have a left or right chaise sofa by placing the ottoman in different positionsFabric: The couch shall compose of modern linen fabric and highly elastic spongeSize dimension: 77" x 52.5" x 31.5" (minimum) -Color: Black or Gray or Orange -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.			
	unit	Side Table	3	2,500.00	7,500.0
		-The supplier shall provide an open shelving side table. -Material: Engineered wood with black metal frame. -Size dimension: 15.51" x 15.51" x 20.00" minimum			
	unit	Glass Writing Board	1	14,950.00	14,950.0
		surface. -The supplier shall include delivery and installation of glass writing board that is highly resistant to stressesThe supplier shall deliver and install the wall mount glass writing board. The item shall be supported by accessories that will support its stabilityFrame: None or frameless design for convenience in cleaning (this is to make the room luxurious and provide modern space vibe)Thickness: 20mm -Size Dimension: 48" x 85" -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.			
	unit	Bulletin Board with sliding door	1	14,900.00	14,900.0
		-The supplier shall provide a 2"x 36" x 60" Bulletin board with aluminum/ glass casingThe wall mounting item shall have a sliding and tempered glass doors with lockThe supplier shall deliver and install the bulletin board. The item shall be supported by accessories that will support its stabilityMaterial: Aluminum -Color: Gray or Silver -Can provide 24 months warranty period and 5-year certificate of availability of parts from the manufacturer.			
	unit	Industrial Table	8	12,000.00	96,000.0
	,	-The supplier shall be able to provide a custom training table with a touch of simplistic industrial themeFeature: Metal Frame and engineered wood that can hold up to 100 kilosThe material shall be flexible for mobility, anti-scratch, and offers convenience in cleaningColor: Rustic brown -Size dimensions: 52" x 20"x 30" (minimum)			
Purpose:	This is to provide essential furniture for storage, design, classroom instruction, and p			rototyping. This fur	niture will
- mpoor.		ewly constructed Fabrication Laboratory with no furniture			
		(1)			
	Reque	stod by.	Арр	roved by:	
Signature :	_9	An Personal Control of the Control o		Mm/	
Printed Name Designation:	SPECIAL SCIENCE TEACHER III CAMPUS DIRECTOR				
		DIAL SCIENCE TEACHER III		* CANADITE DIDEA	11111 # #

Entity Name:	PHILIPPINE SCIEN	ICE HIGH SCHOOL - CALABARZON REGION CAMPUS		Fund Cluster:	1101101		
Office/Section :		PR No.: 2021 - 10 - 109		Date:			
Curriculum and Instruction Division		Responsibility Center Code: 19-014-09 - 00014-02		October	21,202		
Stock / Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost		
6	unit	Industrial Bar Table -The supplier shall be able to provide a custom training table with a touch of simplistic industrial theme.	5	13,000.00	65,000.00		
1		-Feature: Metal Frame and engineered wood that can hold up to 100 kilosThe material shall be flexible for mobility, anti-scratch, and offers convenience in cleaningColor: Rustic brown -Size dimensions: 66.54" x 24.00"x 39.24" (minimum)					
			-		 		
			<u> </u>				
		TOTAL			1,746,750.00		
		TOTAL			1,7-10,7-00.00		
Purpose:	This is to provid	e essential furniture for storage, design, classroom inst	truction, an	d prototyping. This	furniture will		
	give life to the n	ewly constructed Fabrication Laboratory with no furni	ture and eq	uipment available.			
	-	1					
	Requested by: Approved by:						
Signature :		, %) War			
Printed Name		V. ROA		JOSE M. ANDAY	YA, D.T. CTOR		
Designation:	SHECK	AL SCIENCE TEACHER III		CAMPUS DIRE	CIOR		